KEY 

Math 110, 112 Practice Quiz # 9 – Sections 5.1- 5.3
Solving Systems of Equations by Graphing and Substitution, Addition, 3 Variables
1. Without graphing or solving, determine the number of solutions of the given system of equations. Then state whether the system is independent, dependent or inconsistent.

a. x – 2y = 4     

b.   - 3y = - 6x + 12


2x – 4y = 8

      y = 3x + 6

      
a. many solutions, dependent  b. 1 solution, independent 

2. a. Graph the system of equations and determine the number of solutions. 
b. Then state whether the system is independent, dependent or inconsistent.

i. y = - 4x + 3

ii.
 y = 1/3 x + 2

y + 4x = 7


    
 y = 3x – 1 
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no solutions



one solution
inconsistent



independent
3. Use the substitution method to determine the solutions algebraically.


4x + 2y = 20




y = 3x – 5

       


a. x = 3, y = 4 



4. Two angles are supplementary. The larger angle is 30o more than twice the smaller     

      angle. Write a system of equations representing the situation. Then find the measure   

      of each angle.
X = 50o, y = 130o
5. Use the addition method to solve the system of equations and state whether the system is independent, dependent or inconsistent.
a. 5x – 2y = 1

b.    0.2x + 0.4y = 2

c.   x = 2(y + 5)
-4y + 10x = 2

       0.8y = -0.4x + 3

      y + 3x = 2

a. 0 = 0, dependent
b. 0 = -10, inconsistent
c. x = 2, y = -4, independent

(Sect. 5.1-5.3 cont.)
6. A store sells 20 more cell phones than palm pilots. Cell phones sell for $100 each and palm pilots sell for $250 each. If the store sells $21,600 worth of cell phones and palm pilots in a week, how many cell phones were sold that week? How many palm pilots were sold that week?

56 palm pilots, 76 cell phones
7. Use the addition method to solve the system of equations.
3x – y – 2z = 5
x = 2
2x + y + 3z = 6
y = -1
6x – y – 4z = 9
z = 1
8. Jovita divides $17,000 into three investments: a savings account paying 6%, a bond paying 9%, and a money market fund paying 11% (all simple annual interest). The annual interest from the three accounts is $1540, and she has 3 times as much invested in the bond as in the savings account. What amount does she have invested in each account?
Savings: $3000, Bond: $9000, Money Market: $5000









